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QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions No. 1 and § are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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gug ‘A’ SECTION ‘A’
1.(a) & ¢ 09:00 AM & 09:30 AM & s Iigfese @7 W T& ©WA R AW amelt ¢ |
FrEafas AREE THT 39 FaCe & HieR frdt ot sw @R B eEW gwET # |
(i) Sfaa awmerar w9 Sed (HEiew) aRefya Hifa |
(i) 09:13 AM & UBd ¢ & A HI FT GAEAT € ?
(iii) NPT mEE gH 3R AREH WA S SR FaTsy |

(iv) ¥ @ g 6 27 09:11 AM 7% 7@ aé 2, st s & e g 2

A train is scheduled to arrive at a station at a random time between 09:00 AM and
09:30 AM. The actual arrival time is equally likely to be any moment within this
interval.

(i) Define a suitable probability density function (PDF).
(i) What is the probability that the train will arrive before 09:13 AM ?
(iii) Find the expected arrival time and the variance of the arrival time.
(iv) Given that the train has not arrived by 09:11 AM, what is the expected arrival

time ? 10

1.(b) N=5000 &G & ¥ AT & HeR H GH o AMA & ol ATawddh T
s faffa hifsg |

figa e w smufa asm &1 afada 121 7@ | 38 streeq 98 3ifed o &
2.5 UM F IR 99% WA F 1T BT ey |

IR T G TG A o, A1 F91 T 6 ATRR § GREKH g ? 3R @, ar TR
BN, THATEA | (AR EeW R)

Determine the required sample size for estimating the true weight cereal container
from a population of N = 5000.

Based on the past records variance of weight is 121 grams and this estimate should
be within 2-5 grams of the true average weight with 99% confidence.

Will there be a change in the size of the sample if we assume population to be
infinite ? If so, explain by how much ? (Table enclosed) 10
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AREAS UNDER THE STANDARD NORMAL DISTRIBUTION
The entries in this table are the probabilities that a standard normal variate is
between 0 and Z (the shaded area)

0 Z

z | 000 | 001 | 002 | 003 | 004 | 005 | 006 [ 007 | 0.08 | 0.09
0.0 | 0.0000 | 0.0040 | 0.0080 | 0.0120 | 0.0160 | 0.0199 | 0.0239 | 0.0279 | 0.0319 | 0.0359
0.1 | 0.0398 | 0.0438 | 0.0478 | 0.0517 | 0.0557 | 0.0596 | 0.0636 | 0.0675 | 0.0714 | 0.0753
0.2 | 00793 | 0.0832 | 0.0871 | 0.0910 | 0.0948 | 0.0987 | 0.1026 | 0.1064 | 0.1103 | 0.1141
0.3 | 0.1179 | 01217 | 0.1255 | 0.1293 | 0.1331 | 0.1368 | 0.1406 | 0.1443 | 0.1480 | 0.1517
0.4 | 0.1554 [ 0.1519 | 0.1628 | 0.1664 | 0.1700 | 0.1736 | 0.1772 | 0.1808 | 0.1844 | 0.1879
0.5 | 0.1915 | 0.1950 | 0.1985 | 0.2019 | 0.2054 | 0.2088 | 0.2123 | 0.2157 | 0.2190 | 0.2224
0.6 | 0.2257 | 02291 | 0.2324 | 0.2357 | 0.2389 | 0.2422 | 0.2454 | 0.2486 | 0.2517 | 0.2549
0.7 | 0.2580 | 0.2611 | 0.2642 | 0.2673 | 0.2704 | 0.2734 | 0.2764 | 0.2794 | 0.2823 | 0.2852
0.8 | 0.2881 | 0.2910 | 0.2939 | 0.2967 | 0.2995 | 0.3023 | 0.3051 | 0.3078 | 0.3106 | 0.3133
0.9 | 0.3159 | 0.3186 | 03212 | 0.3238 | 0.3264 | 0.3289 | 0.3315 | 0.3340 | 0.3365 | 0.3389
1.0 | 03413 | 0.3438 | 0.3461 | 0.3485 | 0.3508 | 0.3531 | 0.3554 | 0.3577 | 0.3599 | 0.3621
1.1 | 0.3643 | 0.3665 | 0.3686 | 0.3708 | 0.3729 | 0.3749 | 0.3770 | 0.3790 | 0.3810 | 0.3830
1.2 | 0.3849 | 0.3869 | 0.3888 | 0.3907 | 0.3925 | 0.3944 | 0.3962 | 0.3980 | 0.3997 | 0.4015
1.3 | 04032 | 0.4049 | 0.4066 | 0.4082 |0.4099 | 0.4115 | 0.4131 | 0.4147 | 0.4162 | 0.4177
14 | 04192 | 0.4207 | 0.4222 | 0.4236 | 0.4251 | 0.4265 | 0.4279 | 0.4202 | 0.4306 | 0.4319
15 | 04332 | 0.4345 | 0.4357 | 04370 | 0.4382 | 0.4394 | 04406 | 0.4418 | 0.4429 | 0.4441
1.6 | 04452 | 0.4463 | 0.4474 | 0.4484 | 0.4495 | 0.4505 | 0.4515 | 0.4525 | 0.4535 | 0.4545
1.7 | 04554 | 0.4564 | 0.4573 | 0.4582 | 0.4591 | 0.4599 | 0.4608 | 0.4616 | 0.4625 | 0.4633
1.8 | 04641 | 0.4649 | 0.4656 | 0.4664 | 0.4671 | 0.4678 | 0.4686 | 0.4693 | 0.4699 | 0.4706
1.9 | 04713 | 04719 | 0.4726 | 0.4732 | 0.4738 | 0.4744 | 0.4750 | 0.4756 | 0.4761 | 0.4767
2.0 | 0.4772 | 0.4778 | 0.4783 | 0.4788 | 0.4793 | 0.4798 | 0.4803 | 0.4808 | 0.4812 | 0.4817
2.1 | 04821 | 0.4826 | 0.4830 | 0.4834 | 0.4838 | 0.4842 | 0.4846 | 0.4850 | 0.4854 | 0.4857
2.2 0.4861 | 0.4864 | 0.4868 | 0.4871 | 0.4875 | 0.4878 | 0.4881 0.4884 | 0.4887 | 0.4890
2.3 0.4893 | 0.4896 | 0.4898 | 0.4901 | 0.4904 | 0.4906 | 0.4909 | 0.4911 | 0.4913 | 0.4916
2.4 [ 04918 | 0.4920 | 0.4922 | 04925 | 0.4927 | 0.4929 | 0.4931 | 0.4932 | 0.4934 | 0.4936
2.5 |04938 | 04940 | 0.4941 | 04943 | 0.4945 | 0.4946 | 0.4948 | 0.4949 | 0.4951 | 0.4952
2.6 | 04953 | 04955 | 0.4956 | 0.4957 | 0.4959 | 0.4960 | 0.4961 | 0.4962 | 0.4963 | 0.4964
2.7 | 04965 | 0.4966 | 0.4967 | 0.4968 | 0.4969 | 0.4970 | 0.4971 | 0.4972 | 0.4973 | 0.4974
2.8 0.4974 | 0.4975 | 0.4976 | 0.4977 | 0.4977 | 04978 | 0.4979 | 0.4979 | 0.4980 | 0.4981 |
2.9 | 04981 | 0.4982 | 0.4982 | 0.4983 | 0.4984 | 0.4984 | 0.4985 | 0.4985 | 0.4986 | 0.4986
3.0 0.4987 _9;4987 0.4987 0.49_8_3__ 0.4988 i 0.4989 | 0.4989 | 0.4989 | 0.4990 ﬂ.dQHUJE
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1.(c)

ofte Feer Searea # fadwan areht faftmior gl ¥ wfer wef it sigsEw @ gER
¥ foru wiferh I freew T e TR  FRE S @ R ST A
afigar 3, 20 i ag e s TF T ST 3 @ lafifie o
2, TN TaE A e oot 9t € | e & SRm e R e s H e
T E

e
&

Qe
Rt

ITeh WHERT T ITAN WA T

) ¥ @ (dow), s feem g (@) ok freeh P
(werehuer) @ frefeor i |

(ii)aqg?ﬁﬁdﬂwaréaiﬁﬁ'ﬁﬁqaﬂtwmﬁmiﬁﬁql

A manufacturing facility specializing in Sheet Metal Production has implemented a
Statistical Quality Control Program to monitor and improve process performance.
As a part of this initiative, an Engineer has recorded the number of visible surface
defects identified on 20 sequential metal sheets, each representing one production
unit. The data collected during this inspection phase are given below :

Sheet

No. 112(3|4|5|6|7|8|9]|10{11|12]|13|14]|15|16(17|18|19|20

Defect
Counts

Using the above information :

(i) Determine the Center line (CL), Upper control limit (UCL) and Lower control
limit (LCL).

(ii) Plot the appropriate Control Chart and interpret the result. 10
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1.(d)

ATechSolutionsQﬂ-‘-WWﬁmamfﬁ%ﬁﬂgw%ﬁqw
HETEA TF sad yonferdt # fafiewar et @ | ot ¥ s afere § o sk
Fgx fien | aga afts foRk w1 gu 307 ywam A wfmn ok RO s &
aherar T fefeetioren o= foan R | qufy so% w=em @ & amg dee
foeen i wa-wm w feaaet @ sgve e ®1 fed 20 WA A Ro
qferehl # @TC MY AT F FTER TR freen @ w0 R

6 TEA FF ST B &
& ge et &l g

0 -
1 8
2 6
3 2

& quH T A 0 R EG G F FRO G T4500/- THEH ST E | FOR
ﬁmm%mﬁﬁmw%ﬁqm&m%aﬁaw%m@h

IR I FTEH R TEAER AR Al auE i ed G UF ® TEN e 4 gwete
? R sgey & @al T3300/- W HER BN |

& THE & AR R T A o deit A s frane e ¥ g s
AT =TT a1 G ? |

A Tech Solutions is a mid-sized IT consulting company specializing in automated HR
and payroll systems for small business. The company has successfully digitized most
of its operations, relying heavily on its internal computer systems for payroll
processing and report generations. However, despite its automation efforts, the

-computer system has experienced periodic failures. Over the past 20 months, the

computer system has broken down as indicated in the table below :

Number of | Number of months that
Breakdowns Breakdown occurred
0 4
1 8
2 6
3 2

5 | SLPM-B-MGT




1.(e)

2.(a)

Each breakdown results in an average loss of T4500/- due to time delay and technical
service expenses. As a preventive measure, company is considering a monthly service
contract for preventive maintenance. If they sign up for the contract, the average
number of breakdowns is expected to decrease to 1 per month, and the contract
would cost ¥3300/- per month.

Based on the given information, advise that the company should go for contract for
preventive maintenance or not ? 10

TWER, ST AR AR § § Tog & A F STGTH SSEV od Y ATAEAHSE
faweryor fifo |

Critically analyse the advantages of E Governance for Government, Public and
Business giving suitable examples. 10

aaw'mqﬁam%2018-2024aaaﬂ=rmﬁmchn§ﬁgaarﬁsaﬁwm=h%
q R

EL] ﬁﬁgﬁ gfes 6t AR (Megawatts)
2018 94
2019 99
2020 100
2021 110
2022 125
2023 162
2024 142

W I F IEN K g e 7 wifer ¥ ew waf Yar grr ad 2025 F fog
AT & gagA™ TRy |
The electrical power demand of TATA Power Corporation from 2018 to 2024,

measured in megawatts, is provided below. Using the data, forecast the demand
for the year 2025 by fitting and plotting the linear trend line.

Year Electrical Power Demand (Megawatts)

2018 94

2019 929

2020 100

2021 110

2022 125

2023 162

2024 142 15
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2.(b)  SNgTISAT A 9 ATERT & o WK T WHTENAAT H JoTh oA & foQ Ueh HEGTH
# gl A ARE YER F IR B faam & a5 wR (e #7) 55y # fe

o |

IRTA |45 |48 |47 |50 |46 | 49 | 47 | 48

AT B (51 [ 53 |52 |55 |50 (52 )54 ]33

(i) 3FR T GHI T 6 @aA AFd § a #1 W e s T wea € 6
Hed &R 0025 | 9K B IR A ¥ 3wt € ?

(ii) TS SRl 1 98 T QAT 9K S U9 9=d § af 0-01 e &R W 30 T
H oft sitg e | (Frol dow )

In a study to evaluate the effectiveness of two different animal feeds, researchers
recorded the weight gains (in kilograms) of animals after fed each type of feed.

Feed A | 45 | 48 | 47 | 50 | 46 | 49 | 47 | 48
Feed B | 51 | 53 | 52 | 55 | 50| 52| 54 | 33

(1) If the two samples are considered independent, can we conclude that Feed B
is more effective than Feed A at the 0-025 level of significance ?

(i) Also examine the case if the same set of eight animals received both feeds,
and test at the 0-01 level of significance. (Table enclosed) 15

2.(c)  Techline Pvt. Ltd. U Zofaeesr SUHIH Iaured &dl ¢ o X, Y 3R Z &9 @mé
YT A ST & | HIAT Fod A G HH & Hel, ol Aecaqul qareAr S aranst
& ded & Gkl § | U HHTe Fed Al il IuAsudr 800 kg O €ifid B St
AfTEH ITFHAT 600 hours TF W B | oW H AfHaw A & forg, ey
"arEAl 1 R TRy fom vl S B afes frat seEat sarh @, @ folg
FOAT F AT B | Wl IATe &y faeer i few g € )

SRl Wi gfe i afte wfa gffe @
F=a1 "1 (Kg) 9 (92) FrreE ('93)

X 6 5 80
Y e “ 60
Z 2 3 40

(i) Maw wnnfim wwen (va dt 9t) gR1 A Sarg fem & fou afge dar
ity |
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TABLE 6
STUDENT’s ¢ DISTRIBUTION

The first column lists the number of degrees of
freedom (»). The headings of the other columns give
probabilities (P) for ¢ to exceed the entry value. Use.

symmetry for negative ¢ values. R
P
v 10 05 025 01 005
1 3.078 6.314 12.706 31.821 63.657
2 1.886 2.920 4.303 6.965 9.925
3 1.638 2.353 3.182 4.541 5.841
4 1.533 2.132 2.776 3.747 4.604
5 1.476 2.015 2.571 3.365 4.032
6 1.440 1.943 2.447 3.143 3.707
7 1.415 1.895 2.365 2.998 3.499
8 1.397 1.860 2.306 2.896 3.355
9 1.383 1.833 2.262 2.821 3.250
10 1.372 1.812 2.228 2,764 3.169
1 1.363 1.796 2.201 2.718 3.106
12 1.356 1.782 2.179 2.681 3.055
13 1.350 1.771 2.160 ,2.650 3.012
14 1.345 1.761 2.145 2.624 2.977
15 1341 1.753 2.131 2.602 2 947
16 1.337 1.746 2.120 2.583 2.921
17 1.333 1.740 2.110 2.567 2,898
18 1.330 1.734 2.101 2,552 2.878
19 1.328 1.729 2.093 2.539 2.861
20 1.325 1.725 2.086 2.528 2.845
21 1.323 1.721 2.080 2518 2.831
22 1.321 1.717 2.074 2.508 2.819
23 1.319 1.714 2.069 2.500 2.807
24 1.318 17N 2.064 2.492 2.797
25 1.316 1.708 2.060 2.485 2.787
26 1.315 1.706 2.056 2.479 2.779
27 1.314 1.703 2.052 2.473 2.771
28 1.313 1.701 2.048 2.467 2,763
29 1.311 1.699 2.045 2.462 2.756
30 1.310 1.697 2 049 2.457 2.750
40 1.303 1.684 2.021 2.423 2.704
60 1.296 1.671 2.000 2.390 2.660
120 1.289 1.658 1.980 2.358 2.617
S 1.282 1.645 1.960 2.326 2.576
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3.(a)

(i) 3R 9 TF TU IaTG W, STt wfd 3fie 2 kg @1 A1 3 3 3 G e 2
ﬁmmﬁ%ﬁﬁwmw%mwﬁﬁwﬁm|

aH ST wfa gfte g 235/~ B
T FE B I A IAG H AW I B F A =l 2

Techline Pvt. Ltd. is a consumer electrics manufacturing concern producing three
models of Smart Devices : X, Y and Z. The company operates under the constraints
of two key resources, viz. raw materials and labor hours. Each week, the availability
of raw materials is restricted to 800 kg, while labor availability is limited to
600 hours. To maximize profit, the company needs to decide, how many units of
each product to manufacture weekly without exceeding the available resources.
The relevant details for each product are provided below :

Product | Raw Material Labor Hours Profit contribution
per unit (Kg) per unit (Hours) per unit (%)
X 6 5 80
Y 4 4 60
Z 2 3 40

(i) Formulate this scenario as a Linear Programming Problem (LPP), and solve
it for optimal product mix.

(i) Based on the optimal solution, analyze the situation if the company wants to
introduce a New product W, requiring 2 kg of raw materials and 2 hours of
labor hours per unit. Its estimated profit contribution is Z35/- per unit.

Should the company include this new product in its production mix ? 20

UF FIA A it awg i anfifE w1600 zE € Pt wfy =g 270 ¥
aTfifer BfeST AT ST e % w9 F 18%, A H R 1%, T GEE F A=
& forq 1.5% v, wem saRem 250, afy wft ¥ fw 2340 sk Bl e
270 ¥ | TAF AR 3 A w9 B 2100/~ H @ AT B |

(i) mﬁmaﬁarnm(ésﬁaq)ﬁmﬁﬁrqaﬂteﬁnﬁzﬁﬁgﬁm
TUET HfT |

(ii) W%a@ﬁmmif%fﬁﬁzmméﬁ@q(aa)ﬁﬁﬁmm%ﬁgﬂ
RasHg @ & gwfaa e 2

(i) % Fft F o dif e @@ R, sffent s smy SER ¥
AEAFFATA H G 7 B FR B | 3R 100 35 & feft v W2R far o
AHAT ® 1 sEaW smew (3mERaT) Afifd = Snft sk Wi ww = e 2
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3.(b)

A company has an annual demand of 1600 units for an item, whose unit cost is
Z70/-. The annual holding cost comprises 18% for interest charges, 1% for insurance,
1-5% allowances for obsolescence of unit cost and ¥2-50 for building overheads,
£3-40 for damage loss, and ¥7-0 miscellaneous costs. Placing each order costs the
company I100/-.

(i) Calculate Economic Order Quantity (EOQ) and the total costs of stocking
the units.

(ii) If the supplier of the items will only deliver batches of 250 units, how is the
total variable cost influenced ?

(iii) If the supplier relaxes their order size requirements, as the company has limited
storage space it can stock a maximum of 100 units at any time. What would be
the optimal ordering policy and associated costs ? 15

Frefafaa aaw frdem aaen # 9R 9841 & fau R $ifew

frafia wmm | sfte @@ 99 | S99g1 @A
IqTGA §HAT /|18 900 units 300 units 200 units
e T /308 26/- z8/- z9/-

s IR HEAT % foru Wi @i A 1300, 1400, 1225 3R 1475 3T © |
frft o s Fh f sl T 2| b W@ 50 TE R R dRT oA
 arE 21-60 ¥ s i w8 ® |

g GO ¥ 9 AT I9eed R |

Consider the following aggregate planning problem for four months :

Regular time Overtime Subcontracting

Production capacity/month 900 units 300 units 200 units

Production cost/unit Z6/- Z8/- 39/-

The forecasted demand for the next four months is 1300, 1400, 1225 and 1475 units
respectively. Shortages are not permitted. The initial inventory is 50 units, and the
carrying cost is T1-60 per unit per month.

Provide the aggregate plan for this problem. 15

SLPM-B-MGT 10




3.(¢c)

Quick Industries % eM wiferds wemEt frEwr sk @i ¥ fo

T& Q
FR e | fER ) @ ? | v s faskar 3 Rew e = & fg

frafafea st & 2 .
wferfafy wferferfe qehTel g (fet #)
REEiC] forazm qdad | ged s | we@ afts || weR
numEryt | T | FRismard
A | FYR AlgA F IIA| - 5 7 9
3YE / ATIeYe
B s A 6 8 16
foreen aregaen 6
C e A 5 9 13
FYR & Wifds
D <5 B e B 16 21 26
E |%F wium & fagm | B 11 19 27
FYe / ATIeYC &l
F o C 9 10 17
G | 3eEd |\ E 5 9 13
H |fa=a & o D, F 2 3 4
I g ud wEfead | G, H 7 8 9

(i) 38 IHFR ¥ S 77 (Feash) IR@ WY | Teaqt 97 f geEm S
IR snféra afasmr qof 8 &1 @ Sqarsy |

(i) 61 feAt # z@ ofaemT & R 8 6 dwrEar 6t e Fif |

(i) 1@ FH 95% FAfvaa o= wmedt R 6 fireen o T fify o wnfig ==
fean sim, wma Hifg 6 S8 fram fom o, & 9w @ =il |

SLPM-B-MGT
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The warehouse owner of Quick Industries is considering a new computer system
for accounting and inventory control. A computer vendor sent the following
information about the system installation :

Activity Activity Immediate Time (Days)
Identification | description Predecessor| Most Most Most
optimistic | likely | pessimistic

Selection of

A Computer Model a ’ 7 9
Input/output

B System Design A 6 8 16
Monitoring

s System Design A > ? 13
Computer

D Hardware Assembly B 16 21 26

. Development of
main Programs B 11 19 27

v Input/output routines C 9 10 17
development

G Database Creation E 5 9 13

H Installation of the D, F 5 3 4
system
Testing and

: Implementation G B ’ 3 9

(i) Draw the network diagram for this information. Identify the Critical Path and

(i1)
(iii)

4.(a) (i)

(i)

SLPM-B-MGT

expected project completion time.
Calculate the probability that the project will be completed in 61 days.

When the company wants to be 95% sure that the system will be installed by
a certain date, how many days prior to that should it start the work ? 20

“gara 3 fadrew et et sfre famd 17 fdws ot & #\ | o
IR @19 34 §¢ 3@ FaA b T Hif |

“Expert Systems play a significant role in Organisations.” Discuss it giving
at least four benefits of Expert Systems. 10

wgﬁamﬁmﬁsmm&ﬁﬁﬂmﬁmﬁm%mﬁﬁml

Elaborate the different components of Expert Systems giving suitable
examples. 10

12




4.(b) () “gu "o yaeud et @ @ e ot A et €17 frer @

et Hifs |
“Information Resource Management is a strategic plan of an organisation.”
Elaborate. 10

(i) I WOEA WaEd F FEiEdd & fou @ A Aot s § P W

fomr o s =fen 2
What are the important components that must be considered for imple-
mentation of Information Resource Management. 5

4.(c) (i) ®1&7 3R =FEaE § gEAT qoiet i Aifers e e |

Explain the fundamental role of Information Systems in business and
organisations. 5

(i) IHE FIT TN & FH A FH S TeAThT SR H Iwr@ HIT |

State at least eight evaluation factors for an excellent information system. 10

gvus ‘B’ SECTION ‘B’
5.2 “w fafim deR ate Fwd v o SO @l A et aifea s v @ @
furg R 2" s wE Fif |

“Have various Chambers of Commerce and other Industry Associations played
their desired role effectively ?” Critically examine. 10

5.b) @ & T A BT ® ? I @URonEt A F wAS & aftrg fao
i
ORCIEE
(i) BTAGT ST
(111) S9Yh

What is meant by ‘Strategic intent’ ? Give brief explanation of each of these
concepts :

(1) Stretch
(1) Leverage
(1ii) Fit 10
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5.(c)

5.(d)

5.(e)

6.(a)

6.(b)

%W(m)wﬁﬁﬁq&mﬁaﬁﬁm%ﬁw(aﬁmé@wﬁﬁ
# sraear 6 = fiftg | Rt qar ad F fafte gt 6 o fad=mr Hifsg |

Define Turnaround strategies. Discuss conditions for turnaround strategies. Also
discuss types of turnaround actions. 2+4+4

TR it @iar ¥ 9 ¥ fReht @R @ AeeAes e G 3R
wra ¥ frafa afg # faftm sl § ggam i |

Critically evaluate India’s foreign trade since independence and identify constraints
in India’s Exports Growth. 5+5

{ oEaE ¥ G o @ e AN | WH GRT AEEIEE Wiswadr § qeeaqel
gftae @t vea HIfg |

Elucidate the conceptual framework of e-business. Identify the significant changes
it has brought to business processes. 5+5
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“Small-Scale Industries play a vital role in the growth of economic activities
of a country.” Explain giving examples. 10
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How can Government initiatives expedite the growth and success of small-scale

industries ? Discuss. 5
i
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“Government should not enter into business activities.” Do you agree ?
Explain with examples. 10
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“Privatisation of Industries has not achieved its objectives.” Give your
critical comments. 10
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“Consumer Protection Act 2019 (CPA) has changed the business scenario in India.”

Do you agree ? Describe at least eight features of CPA giving suitable examples.
15
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Define Strategic Alliances. Discuss the reasons for strategic alliances. Also discuss
types of strategic alliances with suitable examples. 5+5+5=15
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Define Mergers and Acquisitions. Discuss the types of mergers and acquisitions.

Also discuss the important issues in mergers and acquisitions with suitable
examples. 5+5+5=15
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What do you understand by BCG Matrix ? Describe the four Quadrants of it
and also discuss its Strategic Implications and Limitations with suitable examples.
5+7+8=20
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Explain Joint Venture with suitable examples. Discuss the Life Cycle of a Joint
Venture. - T7+8=15
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What is Foreign Direct Investment ? Describe with suitable examples the different
factors that influence Foreign Direct Investment. 5+10=15
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Elucidate the concept of Foreign Exchange Risks and Exposure. Discuss the

techniques included in Managing Foreign Exchange Risks with suitable examples.
10+10=20
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